Answer on Question #48803, Chemistry, Other
Task:
Calculate the volume of a 0.500 M NaOH solution needed to neutralize (titrate to
the endpoint):
a)10.0 mL 0.300M HCI
b)10.0 mL 0.200M H2SOa4
c) 4.08 g KHP (molar mass 204 g/mol)

Answer:
NaOH+HCI=NaCl+H,O

C,, (NaOH)-V (NaOH) = C,, (HCI)-V (HCI)

V(NaoH) = 2390-10.0 _ ¢ oy
0,500

2NaOH+ H2S04=Na2S04+2H20

2v(NaOH) =v(Na,SO,)

v(NaOH) = —V(Naéso‘*)

C,, (Na,S0,)-V (Na,S0,)
2

C, (NaOH)-V(NaOH) =

V (NaOH) =—0’22.000 510%0 —2ml

NaOH+KHP=KNaP + H.O

m(NaOH)
M ((NaOH))
v(NaOH) =v(KNaP)

v(NaOH) = 4,08 =0,02mol
204

v(NaOH) =

C,, (NaOH) -V (NaOH) =v(NaOH)
v(NaOH) 0,02
C, (NaOH) 0,500

V(NaOH) = =0,04ml

https://www.AssignmentExpert.com



https://www.assignmentexpert.com/

